EARAROBEEIERT — 2 N— IBISH —F

2016598240 (£) 4E+LI5H

Ul o R2m B [EE] B

‘ [Riz] & ‘ [RERBE] — | Z (%) 1600M FHE

[~E%] 1 #%:7,000,000 @ ~ 23 :2,800,000MH ~ 33&:

1,800,000 § . 4 & :1,100,000 H 5 & : 700,000 M

mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N o AN . 4 Tt 5
SATLTY =X 4 2 ;L‘E(i) 7 1.(3_6).0 6-7-7 | 34.7|77.0| 2 (412) Lég%ﬁ(%ﬁ)
RT3 784K B:Vav /7730 — =4S
- . RS :36. -1- 6| 74. SR (EH)
IZAFY—FYA> 4 2 il 1(33/61)1 2-1-1 35.6|74.9 | 9 (4i6) EE%E
LY LTAN—F B/ —TIr=— s IF
= = t 2 | FARtER :36.1 13-13-11 | 34.4| 76.0 | 11 434 | REEfR— (EH)
AXET14 71 b g 54.0 (NF) (=) | B EvILyREI7—4A
L:wy)gddyFR BAXRETATLAL EvJLy RT7—L4
FiBlE : -6 HRER (i)
FILFLAO o2 2 (17.3;;) 6-6-5 |35.1|75.8 | 6 (4i0) i
R:TI9 84K BiyAyF AES
TS S 42 | HEEXH 1:36.3 3-3-3 35.6| 73.3 | 8 484 | SRS (EH)
ARV T RIV— 54.0 (11/2) (=) | W 5TV RI5T 5747
L7 RYAY<y X B:7Y/0Nd0%F 1S
2 | =M= 1:36.4 10-9-8 [35.0| 72.8 | 3 | 444 |EHIERIZ ()
L1 7%+ — # 54.0 (5E) (=) | 8 #AEL-2AK-2
RiFATATv— B:UU—TAUH HET7— L
. S 4 2 | HHEHEA 1:36.5 15-14-13 [34.6 | 71.9 | 4 426 | BEHL (ERH)
= N Ly 54.0 (1/2) o) | B G1L=3>y
R:F4—-TTVI>F B:FI77vT () HEI-RL—-2a>AET 7
= 4 2 | FlBEKX 1:36.7 10-15-15 [ 34.6 | 69.9 | 1 472 | REE (EH)
gl1|1|771/& 54.0 (1 1/4) (—) |ELED
R:N—ANK B:O—Lit—R1)— K A
R s oo | ABHRU 1:36.7 16-11-8 [ 35.1| 69.7 | 5 480 | BAE (EH)
9 3 Oy MR 0 75 o (Esaﬂ"/?—l/—“/‘/’j
L:g—kLERYI B:aralrFqa7 (B) A1 -FRL—-va>aEI7
4 o2 | REERTT 1:37.3 10-11-13 [35.7| 63.6 | 14 | 438 |EH%T (EH)
10 7|3RXERIIO—I 5.0 (31/2) (=) ﬁ(ﬁ) EvdlLyRT7—L
R:8— VR B:vAZ<TUT LR EvJlLy RT7—L
s 4 o2 | AES 1:37.7 6-3-3 |37.0| 57.4 | 10 | 468 |KIEEA (RR)
1|7 13| 21T ETL1¥— 54.0 G 5 | mns
Ly hT—IEY B:3IvF—nFD FEHIS
C 4 5 = 4 2 L. #—-1L7L 1:37.7 4-3-5 |36.9|57.3 | 7 M | =/ BHF (EH)
EHW Bl=2sar i A 0 (7€) (o) | W) s1ATHS
RiN—E>Tv— BihTF1vyva FEENE ¢
3 s 2 | AEDHL 1:38.1 1-2-2 | 37.5| 54.2 | 13 | 436 |XKMEEB— (F#)
13/8 |15 ¥~ 7 A A £52.0 (21/2) o | esn Ty sz 2z
RLN—HINK B:ZTAILET M) — e
5 o2 | HE—H 1:38.5 5-7-8 | 37.2| 50.1 | 16 | 428 |/\%f&sh (%)
1412 7zLU)— 54.0 2 1/2) Oy | Bl
Ribh—t>TFbL Bib—tlUy— BEXZY K
e 4 2 | HPBE 1:39.1 9-10-11 | 37.6 | 45.2 | 12 wug | BEl— (EH)
15/5| 9| AAXXTT 1A 54.0 3172 o | &) ks
R:F1—-TTVI>F B:AFIvE)-X KEHS
S fo 2 | AL 1:40.3 14-16-16 | 37.5| 34.7 | 15 | 428 |FHEE (X@)
16| 7|14 © 54.0 @ ) |.B) EvILy Ty —L
RiTHAFUS v —I B EA T =R BE
@ 71 L
) 47.7-35.5
NA>ZA4 L | 12.6-11.4-12.1-12.2-12.2-11.7-11.8-12.0
® I —F—@EBIERL
1T=7r=
2= = (x15,16)8,12,2(4,5,13)9(1,6,7)11,14,10,3
Gol=5r= (x16,15) (8,12,13)4(2,5)6,9(7,3)11,10,1-14
40—+ — (x16,15) (8,13) (12,4)5(2,6,3) (11,9) (7,10)1=14
[ N3
B O 5 500H 714K 5-16 1,980H e E 3-8 3,700M JEHE 5-11-16 83,950/
8 B 5 200M 5-11 4,060 B = 5-16 6,070M B 5-16-11 337,020
16 690F 11-16 11,230M B H 5-16 9,690
1 1,170

ABICOVWTRDTEEERROODE. TR LIV,




